IROEWT WoE BT 00 WOeTY, ToowY, FgezTo, on¥es: — 560 003

KARNATAKA SECONDARY EDUCATION EXAMINATION BOARD,
MALLESWARAM, BANGALORE - 560 003
®&,% - 01 / Paper - 01
QT QOTE . QO 2. T, WO - 2021
SSLC MAIN EXAMINATION - 2021
WFPFTT, [ ARRETT [ % %@ + BZW é)gas
Economics / Sociology / Politicaf Science + Social Science
TN : FOARFED ARED-01 (95-KE/96-KE/97-KE) + 03008 AR0-02 (95-KE/96-KE/97-KE)
+ TR agazs (85-KE)
Subjects : Alternative Subject-01 (95-KE/96-KE/97-KE) + Alternative Subject-02 (95-KE/96-KE/97-KE)
+ SOCIAL SCIENCE (85-KE)

(55055 0 BONFE sm:ém / Kannada and English Medium)
(CCE-RF / CCE-RR / CCE-PF / CCE-PR)

YOSTNG ZoFed

KEY ANSWERS
Rode Boss, 1 96-KE 95-KE / 97-KE+85-KE | [ Code No. : 96-KE / 95-KE / 97-KE + 85-KE
nog 03N 1 40 + 40 + 40 = 120 | [ Max. Marks : 40 + 40 + 40 = 120

DReL : BVPETX
<
Subject : ECONOMICS

W) 8’3)3271%3 3085:3 140 +40+40=120] [ Total No. of Questions : 40 + 40 + 40 = 120

33 B,303R0T0 JINOR T WTPRFT TeINOR LY SANTRY VRGNS, SYNTO,
TOOIRT LVBTTRY, B0 VTR ARLINTIT 4.20.6T¢. ( OMR ) W0ZT T8,3080Q0 e @
TR) TP WP TA0EE FFROT HOBIRT 03 0d0RY B¢ TR 40 X 1 =40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer among them and shade the correct
option in the OMR Answer Sheet given to you using a blue / black ball point

pen. 40 X 1 =40
1/41. 73635 WRONT DFOTT LT WBRONTS Q0T TEPTITO

(A) TonT® SR E (B) =oTez* Bow@peT

(C) TRmoLOW J0TRe3 (D) meofe

VT (A) T T SRFE
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96-K/E (RF/RR/PF/PR) 2

2/42.

3/43.

"Country is poor because it is poor." This is stated by
(A) Ragner Nurkse (B) Suresh Tendulkar
(C) Dadabhai Naoroji (D) Gandhiji

Ans. : (A) Ragner Nurkse

QRINTEY WTY AR B ST TRODTO T3e3
(A) T2 (B) a®c3neod
(C) r@Irow* (D) @oriow®

The country which has very low annual per capita income is

(A) India (B) Ethiopia
(C) Switzerland (D) England
Ans. : (B) Ethiopia
SERINO Y TeBNYY 98e TRRD T B3.80. QT ToTD
(A)  MOeas3E3Ts 560 08 ewdpen; PO NY 803
(B) 80D ©m00wS ©80IRNTOZTI
(C) QT RO B03,230350¢) &0TIPLTIRYTO
o - [~¢] o
(D) g moddny oed Bmwows
VT (A) TOTOBT dFEd B wTREN, AP NY BT

Underdeveloped countries have very low H.D.I. due to
(A) lack of quality education and health care facilities
(B) overdependence on Agriculture

(C) lack of development in Science and Technology
(D) overdependence on Industries

Ans. : (A) lack of quality education and health care facilities
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3 96-K/E (RF/RR/PF/PR)

4/44. &0TOVT TETTI 02, VFEANTD

(A) 33, InoesseD (B) wsPy5s
(C) =FTZ0d s T, (D) v32 e oW,

egd: (B)eaRags

The main characteristic of backward country is
(A) more urbanization (B) more malnutrition
(C) more literacy (D) higher standard of living

Ans. : (B) more malnutrition

5/45. 1982 T JuRTE ST, AT,
(A) @003, (B) Tmdo0
(C) WonsrdzY, (D) 3puZTY,

WIS (A) Fo0LTE,

NABARD was established in 1982 in
(A) Mumbai (B) Delhi

(C) Bangalore (D) Kolkata

Ans. : (A) Mumbai

6/46. £3T0 APONTR), VBT,
(A) gmoddne e:az;swo@@ i (B) 95003 @w%%ﬁ
(C) F o308z eﬁzp:b@@ﬁ (D) g eﬁz,;’):g)@@ﬁ

evgd: (D) 3 eROn
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96-K/E (RF/RR/PF/PR) 4
Taccavi loans were granted for
(A) industrial purpose (B) trade purpose
(C) personal purpose (D) agricultural purpose

Ans. : (D) agricultural purpose

7/47. AD0RBETT APOT, 300 YVIIIHTE
(A) e, 239,05 B) » @&p%@@ 232, 0%°
(C) =3o¢T (D) Seeot3eTmsTO

ZT: (D) STt
The example for an important source of Non-institutional credit
is
(A) Commercial bank (B) Land Development Bank
(C) Government (D) Money lenders

A (D) Money lenders

ns. :
8/48. 3% 303,33 wB I 299,05
(A) TewwE (B) e Rog0es 239, 05°
(C) RTT0 239, 05° (D) R$ecdd 1o,eu0ee9 239, 0F°

Wgc: (A) SWWEE
The Apex bank for agriculture is
(A) NABARD (B) Land reforms bank

(C) Co-operative bank (D) Local rural bank

Ans. : (A) NABARD
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9/49. BT 53,08 T Fe0T, 19, 057
(A) ¢IIT3e0R ORTF 23, 05 (B) 9,05° &3° QoTI0w°
(C) 0oz w05 (D) 03 239,05°
evgo: (C) 0F° 9,05
The oldest central bank of the world is

(A) Reserve Bank of India (B) Bank of England
(C) Riksbank (D) World Bank
Ans. : (C) Riksbank
10/50.  "200TR° 08¢ B3 T3ETTW 3¢0T, 9, 05°
(A) =TS (B) Sucten o
C) T, (D) ==oFS®
wgd: (D) x@oFT®

'Bundes Bank' is central bank of
(A) Japan (B) Netherland
(C) France (D) Germany
Ans. : (D) Germany
11/51. OTZe0D OFR'F 1), 05° Fe0T, B30 ATV
(A) TzO0DY (B) o500,
(C) TTRTY, (D) R0y zY,
v3T: (D) B0 Y
The headquarters of RBI is in
(A) Delhi (B) Hyderabad

(C) Chennai (D) Mumbai
Ans. : (D) Mumbai
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96-K/E (RF/RR/PF/PR) 6

12/52. 233,080 239, 080T3¢ AT NTIYTO
(A) 2DEVD (B)
(C) Jwwss (D)

evgo: (D) ORw'E 29,08

Banker's bank is

(A) IDBI (B)
(C) NABARD (D)
Ans. : (D) RBI

13/53.  OR'F 3,05 MBIRRORT),

(A) 1e H&,ef, 1935 Tom (B)
(C) 1¢ D&, 1949 To (D)

QZT: (A) 13e 0&,eF, 1935 Towd

RBI was established on
(A) 1st April, 1935 (B)
(C) 1st April, 1949 (D)

Ans. : (A) 1st April, 1935
14/54. ORI E W, 0F° NRNFO'D L9TOTT BRY

(A) 4 [IFFND (B)

(C) 6 IRensd (D)
QgT: (B) 5 IRFN

The term of RBI Governor's office is

(A) 4 years (B)

(C) 6 years (D)

Ans. : (B) 5 years

1906 (KA

ﬁwew 239,05 &F° QORAIR

ORTE 239 o5°

SBI
RBI

13e mnesEs, 1934 Too
13e @3, 1950 Tod

1st March, 1934
1st March, 1950

5 [IRFNSD
7 [IRENGD

S years

7 years
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15/55. DO 0L TEYWIY, WIFRIT Te3
(A) T (B)
(C) =oriowm® (D)
eVZT: (A) T,
Ruble is the currency of
(A) Russia (B)
(C) England (D)
Ans. : (A) Russia
16/56. 23, 11023’ QT BOLOHITOHTO
(A) = m0ORR (B)
(C) TR =moonr (D)
evgd: (D) g moonn
Broad gauge is related to
(A) Water transport (B)
(C) Road transport (D)
Ans. : (D) Rail transport
17/57. WAOT WCINVESCITY WOTIRPAT BHRE
(A) 1990 (B)
(C) 1994 (D)

V3T (A) 1990

96-K/E (RF/RR/PF/PR)

China

France

plevebl-nialatal
%cﬁ F3pleTatat
3

Air transport

Rail transport

1992
1996

Open sky policy was introduced in the year

(A) 1990
(C) 1994
Ans.: (A) 1990

(B)
(D)

1906 (KA
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96-K/E (RF/RR/PF/PR) 8
18/58. QWTONTY, BT ONFDY AFAT TRT
(A) Heof @@ (B) 23000¢
(C) & HRBeRT0D (D) &35y BoRT®
ZT: (A) FeT® T
The king who constructed highways is
(A) Sher Shah (B) Babur
(C) Krishnadevaraya (D) Tipu Sultan
Ans. : (A) Sher Shah
19/59. TR T M0 QeS0T YIRTBTE_ 20N BOTT),
(A) 1991 (B) 1990
(C) 1995 (D) 2000
evgd: (A) 1991
The New Industrial Policy of India was introduced in the year
(A) 1991 (B) 1990
(C) 1995 (D) 2000
Ans.: (A) 1991
20/60. 20 ©03n¥ 52030 3,30T T30 VT3¢
(A) ©TZT300 BoRF O
(B) 2EITT Amoer O
(C) wdnen, LY NI WwINTITHTO
(D) 3mo3nen Fow ARONTS) WwBNTITYTI

IT: (B) WEBIT ARRE O

1906 (KA



Ans.

21/61.

9 96-K/E (RF/RR/PF/PR)

The main objective of 20 point programme is
(A) eradication of illiteracy

(B) eradication of poverty

(C) providing health facilities

(D) providing loans for industries

: (B) eradication of poverty
2006 TY 23201 0T &, Fo030FT,a0

(A) SOTIZMOOH TLOD T19,80080 YVTIR et a3Z0 03ReeS
(B) Bear 203008 112,30 BBREF DT’ 0dnewss

)
(C) wvtdeen sy odpewd
)

(D) =&wo =0 BBy o[ 0 Seewd

GVZT: (A) TOTHFMWOR TR 719,80869 YVTIR, N 839TO CIRELS

Ans.

22/62.

The programme introduced in 2006 is

(A) MGNREGP (B) SJGSY
(C) EAS (D) DWCRA
. (A) MGNREGP
LOTTTE, TF FoOTI0IN0 F,:0080559NTS DFOTT T30
(A) ©R[Q TROQTOI T3¢
(B) =9ns oe3

&
(C) wezgans ez
(D) @380 Beohs B3e3

@ [ae)

egd: (B) BN Be3

Ans. :

Road transport is important in India because it is a/an
(A) developed country

(B) country of villages

(C) country of towns

(D) underdeveloped country

(B) country of villages
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96-K/E (RF/RR/PF/PR) 10
23/63.  Toe00) 119,09 T3ETRETDOT QORI 10
(A) 11,8009 T, T3eBLOT WESTHR), JTIRFOT BREIT)TI
(B) SINT &,BeaNPom WRITHRY, ARRFOT SRR
(C)  T)80e9 T,TEBNRPT TR APFORFNFRY LTBNATYTI
(D) 1),e0e9 T,TeBNOT sTREn; FPOYNTTY, LBNBOYTO
eVZT: (A) 119,800 T, TSRO WRSTHR), JTRFOF BRI

The main aim of National Rural Livelihood Mission is to

(A) eradicate poverty from rural areas
(B) eradicate poverty from urban areas
(C) provide basic infrastructure to rural areas

(D) provide health facilities to rural areas

Ans. : (A) eradicate poverty from rural areas
24/64. STT TeesT* 0dRewTOI WVT S

(A)  112,000060 WREION LVTR, N
(B) INTT WwBRRION w8
(C) INTT WEESON LVTiLen
(D) 19,8006 WTEWTON =R

ev3d: (C) INTT WEHSON LVTRen
Nehru Rozgar Yojana was initiated with the objective of
providing
(A) employment to rural poor
(B) housing to urban poor
(C) employment to urban poor
(D) housing to rural poor

Ans. : (C) employment to urban poor

1906 (KA
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TIEIT 2T SEE30E 99,590
(A) 30T (B) o)
(C) DotdzmEs* o, TT (D) 0303 9,390

evgo: (D) ©0308 w5300

Ans.

26/66.

The trade within the country is called
(A) import (B) export
(C) entrepot trade (D) internal trade

: (D) internal trade

ucgsssmq 9803000 BT :%oa%me%ce WEROT DO
(A) 3O STTOD

(B) Soo wed &8,

(C) TFToLT T3, Epedns FemS

(D) 3ges 302 wTRen, T D3dF

evgo: (B) 300 weE B,

Ans. :

The method used by Suresh Tendulkar to measure poverty is
(A) per capita income

(B) per capita consumption expenditure

(C) dalily calories intake

(D) expenditure on education and health

(B) per capita consumption expenditure

1906 (KA [ Turn over
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27/67. PRTBT AT T;wd TN 2390 0TI B3 INOT IBII
(&) =oon), (B) o
C) 2Jm» (D) RTowo®

Q3T: (B) o

The first rail in India ran between Bombay and
(A) Sangli (B) Thane
(C) Pune (D) Purandar

Ans. : (B) Thane
28/68. WOTIT W0, T

(A) TYo° (B) 30
(C) g D) mFw

wgc: (B) @¥o

The chief export of India is
(A) Rubber (B) Tea
(C) Gold (D) Granite
Ans. : (B) Tea
29/69. TOQ QL yITIEOD DT F 239, 05° FOBOROTO wéwﬁ@

(A) TIH QT =T =K (B) MOR Q0B = =%
© S Q@ o) 3T
(C) ©8cINT 0EBLO 3, (D) 9,03:002388 R 3,35
@ 3 3@

eVFT: (A) BIF I wswﬁ@
The system followed by Reserve Bank of India for issuing
currency is
(A) minimum reserve system (B) maximum reserve system
(C) excessive reserve system (D) fair reserve system

Ans. : (A) minimum reserve system

1906 (KA



13 96-K/E (RF/RR/PF/PR)
30/70. FOF LBTYTORE T, o %%5@0&) 3360
(A) F0T, B (B) S329%, WO0D
(C) T3 TOD (D) T[p=E DOOD
wgc: (A) %633?5 DN [lev)
The railway zonal headquarters that is situated in Karnataka is
(A) South Western Railway (B) North Eastern Railway
(C) Southern Railway (D) Eastern Railway

Ans. : (A) South Western Railway
31/71. ‘g MoDBETTED LD T DOTTWTO

(A) RO 0. DZe3TE3) (B) 0TF Mmool
(C) wRomeF Fea (D) TR0 JTRE3
QIT: (A) IT® 0. LBESTOD
- [N )
"Industrialize or Perish" was stated by
(A) Sir M. Vishwesvaraya (B) Mahatma Gandhi
(C) Amartya Sen (D) Dadabhai Naoroji

Ans. : (A) Sir M. Vishwesvaraya
32/72. W, LRTY 4TZTY, T TIOR3 QBRI

0% )
(A) [T T,030069 LFTD

(B) 333 99,5090 08) ST, AH0ITINSOT
(C) Do, ToRTINDT AT TWRTWED

(D) 18573 Worteddsy, 7, 8med

evgT:  (B) I 99,3098 R0 STEYIE, BTH00305:00I0TO

T 2=

The British developed railways in India to
(A) help the people to travel
(B) help their own trade and administration
(C) help princely states
(D) suppress 1857 revolt
Ans. : (B) help their own trade and administration
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33/73.  (PUZHY BRTO 9030 TOT Fewd TORT,
(A) ©POTRIT® [0 TR TEOH
(B) =9 =02 5&%@ IBTD
(C) ooy o= THO IS
(D) ©omIRT* &08) 5 SBOS
vZT: (D) BOTRLRT® [0 F D IOD
The first air transport service in India was made between
(A) Allahabad and Delhi
(B) Delhi and Calcutta
(C) Bombay and Delhi

(D) Allahabad and Ninny

Ans. : (D) Allahabad and Ninny
34/T4.  T,TIHT 11,0006 239, 0BONTFR) 30, TN QAT ATOT TEITHRO

Qe
(A) TRB B):oeeas §oosnen
(B) o =02 33 3301

) pr) 0

(C) TR B)=[edB §MeosNen
(D) ooz o0 3On
Q3T (B) 9o 2080 I T,30N
o () - o) &5

The Regional Rural Bank provides financial assistance to
(A) large scale industries

(B) marginal and small farmers

(C) medium scale industries

(D) industrial labourers

Ans. : (B) marginal and small farmers

1906 (KA



15 96-K/E (RF/RR/PF/PR)
35/75.  B0ROIVT* QOXLEOOVS LI, 05° AR THCINTH,

(A) 1935 (B) 1945
(C) 1921 (D) 1931
wgc: (C) 1921
Indian Imperial Bank was established in
(A) 1935 (B) 1945
(C) 1921 (D) 1931
Ans.: (C) 1921
36/76. OHETIAT T,F0 23PTEINO oW
(A) e 080M (B) &0
(C) Ted 9,500 (D) g
ewzd: (C) DTed 9,500

The engine of growth in economics is
(A) Banking (B) Insurance
(C) Foreign trade (D) Agriculture
Ans. : (C) Foreign trade
37/77.  D3TLe O ¢ TRT G 1500 BRONTIT Te3

(A) 33008 (B) T,
(C) e (D) Ts
«wgc: (D) yTe

The fourth largest railway transport network country in the

world is
(A) America (B) Russia
(C) China (D) India

Ans. : (D) India
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38/78.

=8 éz&gg S0 S3T39030 BROQTI T5e3
(A) ¢T3 (B) 8@
(C) =%, (D) 33008 FOCIVE FOTDS

ev3T: (D) @308 F0o30T RO

The nation having highest per capita income is
(A) India (B) Pakistan
(C) Egypt (D) America

Ans. : (D) America

39/79.

WS e W2 dxﬁfaz&d 5&)%’;@) DBV T
(A) =05, 8[Q WO (B) Qe5oFp T

(C) ©RIH T (D) 8¢ QEFIFRY O

wgo: (C) OB WY

Ans. : (C) Short term credits

40/80.

Credits sought for purchase of seeds and fertilizers are called
(A) Medium term credits (B) Long term credits
(C) Short term credits (D) Very long term credits

1883 TQ, 23007 ITLRT 003
(A) 50 TONY 59030
Q

(B) wre-wpE0 5008

(o8} Q
(C) Pre-wREd FONY 503

(o8} Q
(D) e-A5TED 5030,

evg0: (C) PR-wRE 0 TONY F903),

The Act passed in 1883 is

(A) The Agricultural Loans Act
(B) Land Development Act

(C) Land Improvement Loans Act
(D) Land Reform Act

Ans. : (C) Land Improvement Loans Act
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